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bsolo 3.2
clasp 2.0.6-R5325 (d

npSolver 1.0 (fixed)
npSolver inc (fixed)

npSolver inc-topDown
npSolver inc-topdown

PB07: bsolo 3.0.17
PB07: minisat+ 1.14

PB07: PB-clasp 2007-
PB07: Pueblo 1.4

PB07: SAT4JPseudoRes
PB09: SAT4J Pseudo R
PB09: SCIPspx SCIP 1

PB10: borg-pb 10.05.
PB10: pb_cplex 2010-

PB10: SAT4J PB RES /
PB10: SCIPspx SCIP 1

PB11: borg pb-dec-11
PB11: Sat4j Res//CP 

PB11: SCIP spx E_2 2
PB12: minisatp 1.0-2

PBPASSolver-CARD.DP 
PBPASSolver-CARD.SN 

pwbo 2.0
pwbo 2.02

SAT 4j PB RES // CP 
Sat 4j PB Resolution

SAT4J PB specific se
SCIP spx SCIP 2.1.1.
SCIP spx E SCIP 2.1.

SCIP spx standard SC
toysat 2012-06-01

wbo 1.7
wbo 1.72


